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INSTRUCTIONS

Before attempting the question paper, kindly
check your Question Booklet (QB) and
O.M.R. Answer Sheet and ensure that :

- Serial number of Question Booklet (QB)

and O.M.R. Answer Sheet is same.

- All pages and all questions are properly
printed.

In case of any discrepancy/defect, the
candidate should immediately report the
matter to the Invigilator for replacement of
Question Booklet (QB) and O.M.R. Answer
Sheet. No claim/objection in this regard will
be entertained after five minutes of start of
examination, candidate will be liable for the
same.

Read all instructions on the reverse of O.M.R. Answer Sheet.

On O.M.R. Answer Sheet, use blue ball point pen only. Please, fill your Roll
No. and other information correctly in O.M.R. Answer Sheet.

All questions carry equal marks. For each wrong answer 1/3 mark will be
deducted.

If more than one response is marked for a question, it would also be treated
as Wrong answer.

Each question has five options/circles. First four options/circles A, B, C and
D are related to appropriate answer and fifth option/circle ‘E’ is related to
'Question not attempted .

To indicate the correct answer, the candidate has to fill in only one option/
circle A, B, C or D with blue ball point pen for respective question number on
the OMR Answer Sheet. If the candidate does not want to answer any
guestion then the fifth option/circle ‘E’ should be darkened.

1/3 part of the marks will be deducted for the questions, if none of the option/
circle options are darkened.

If a candidate leaves more than 10 percent questions or does not darken any
of the five options, he/she will be disqualified for the exam.

Candidate will be given 10 minutes extra to make sure, if he/she has filled
up any one option/circle for each questions.

If there is any sort of ambiguity/mistake either of printing or factual in nature
in Hindi or English version of questions, then the English Version will be
freated as final.

Use of Mobile Phone/Bluetooth Device or any other electronic gadgetin the
examination hall is strictly prohibited. If any such prohibited material is found
with any candidate, strict action will be taken against him/her as per rules.

Warning : If a candidate is found copying or using unfair means or if any
unauthorized material is found in his/her possession, F.I.R. will be lodged against
him/her in the Police Station and he/she would be liable to be prosecuted under
State Public Examination (Measures for Preventions of Unfair Means in
Recruitment) Act. 2022 and Amendment Act, 2023. The act has provisions of
imprisonment of 10 years to life and fine up to T 10 crore. Board may also debar
him/her permanently from all future examinations conducted by the Board.

P.T.O.
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(FH. 1 ¥ 3) MUSI TH TR fr mw g, e s
78 s T o Bl snust vd® ey S ¥
YW W M- G FAT & 3T IqF A AT A
g Pt Fr Feriia s 2

ITRT

FAN 2 & Sl WAL BT Yo7 TG F IUTRT AL & T
W 2l 3 I ITRT BT A BRU S 3R
THAIBI B FAT & AN ST THTAT BT UH g7 Tz
a1 3 G=mg auT w¥e FEA A TA F IFAd STIRT
&% BT FYJ TAT AT 2| §F ATGTAT IT ITT TATHT 37T
AT H STl 31T 7 HA & Wid JTRSBAT Hheld i
T TR T FETAT BT gl ITTRT HT Fhd B
U+ Mg, auf S 999 Woell & 9Tl
feparam @ o S g9t | gfg & 9%dr 2

1, 29T &P I o7 S9re fastag 39 & fav gara

AT Aal & |
(A) THi9=9a T9a (B) HHITad Tat

(C) HHTraa T a
(E) 3mid ued

(D) fafs=a =&t

2. 9% 3 ¥ I TEEAE # gis gt 2 |
(A) R=aTEd (B) HHIfaa Tat
(C) Fwrraa Tora (D) fofs=a @&t

(E) 3maid wed

3. Ul S TIEY B T A g H B JHHADT
e |

(A) Fwrfaa &t

(B) AT Tod
(O) T=i9=a Toq (D) fofs=ra @&t

(E) 3aia 99

X SPZ8
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(Q. No. 1 to 3) You are given a passage followed by
some inferences. You have to examine each inference
separately in the context of the passage and decide its
degree of truth or falsity.

PASSAGE

The water resources of our country are very much
underutilized. The main reason of this underutilization
is the lack of capital and technology. A large portion of
our water resources is wasted due to floods and unwise
use of water for irrigation as well as domestic purposes.
We can make full use of water resources by building
dams on rivers and by adopting policies of spreading
awareness among people not to waste water. In

addition, effective implementation of rainwater
harvesting system adds to water resources.
1. The country does not have enough funds to
develop water resources.
(A) Definitely false (B)  Probably true
(C) Probably false (D)  Definitely true
(E) Question not attempted
2. Occurrence of floods adds to the water resources.

(A) Definitely false (B) Probably true
(C) Probably false (D) Definitely true
(E) Question not attempted

3. Rainwater harvesting plays no role in increasing
water resources.
(A) Probably true (B) Probably false
(C) Definitely false (D)  Definitely true

(E) Question not attempted
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4. I B AR #z fHu gu 5 @Al ot d9fe
#, IaT, AT & qTg 3 gAY VI T TSt & 31
3TeTehT, AT & a8 3T 9y WE 9 I3t 2|
T 9fem & fopdt ot 3ifaw =i 9w 78 ST 2

UfeRT &% HeO H BIH 43T & 2

(A) dar (B) @
(©) =T (D) 37cThT
(E) 3mid wed

5. AT 3UH WX ¥ Hierol A1 W&l 2l T8 I Bl AR
500 AeX Ferar 2, ey #fey ¥ i a8 3= Hal
T qAT 700 HeX IR TG El IE 3 AT T,
ag 2.5 Tt ¥ Rud a9 v & forg R adt
2zl f5Y 92 a9 uPsdt € 3R U Pielsl ab
T§a % foTg amg 3R 3.3 oA Bt g St B
AT F Hictsl 3R =R & T Pt YAaH &5 g
4

(A) 4 fepedt (B) 5 fepeit
(C) 7 fepeit (D) 3.5 Tt
(E) 3/aia 99A

6. C,H,I,P,S3M Y US fqafa wcHoia #F &
3 B AT AT FIF IS &l P, Y F IAT 3R T
WE 9T IST 2| C 3N S Heg THATT AT |
e 2

H® TTHA $iH T3T & 2

(4) C (B) S
©) 1 (D) Y
(E) 3maRd wed

7. S gEdT A 39 [9HeT T 994 B AT T8
HET FIMET & ST 76 2 3 3 A YU 9y § 3
39 3T faus g 39w 9 99 9= 3Tat 2

26, 27,36,6,6,5,0, 6,306, 37,24, 12,20,15, 18,
22,:25,12,24,21,42,36

(A) 5 (B) 6
(C) 8 (D) 3
(E) 3m=id ued
* SPZ8 3
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In a row of 5 girls facing North, Rita is sitting
second to the right of Lata and Alka is sitting
third to the left of Seema. Seema is not sitting at
either of the extreme ends of the row.

Who is sitting in the middle of the row ?
(A) Rita (B) Lata

(C) Seema (D) Alka

(E) Question not attempted

Reena is travelling to her college from her home.
She walks 500 m towards the North, then takes a
sharp left from the temple and walks another
700 m. Taking a right turn, she takes a rickshaw
for the bus stop, which is located 2.5 km away.
She then catches a bus and travels 3.3 km
towards the left to reach her college. The shortest
aerial distance between Reena’s college and her
home is :

(A) 4km (B) 5km
(C) 7km (D) 3.5km
(E) Question not attempted

C H, L P,Sand Y are sitting around a regular
hexagonal table facing the centre. P is sitting
second to the right of Y. I is the only person
sitting between C and S.

Who is sitting opposite to H ?

(A) C (B) S
(©) 1 D) Y

(E) Question not attempted

In the given series, choose the option that
indicates the numbers that are exactly divisible
by both 2 and 3, and are also preceded by an odd
number and succeeded by an even number.

26,27, 360,0,0,9,6; 6,30, 3/, -24,1), 26,715,188, 22,
25,012,171, 40,36

(A) 5 (B) 6
C) 8 (D) 3

(E) Question not attempted

P.T.O.
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8.  7fg fpdT AfY=9d wmaT #, 'ORANGE' FT 'QTCPIG'
F T § Fedg [HAT JA@T &, a 'YCVGTOGNQP'
T 9155 FT FT B 7
(A) WATERFILTER
(C) WATERMELON

(E) 3MaiRa 99

9. TUF WAH U IR ¥ fHew gEE 8:30 T
(AM) 3TaT &, 98 6T 9:15 o7 (AM) 37aT & ftpe
T TR 10:15 T57 (AM) 3aT 2 3T =t ar
11:30 F=T (AM) 3TaT 2| 98 T2 & MW 2

(B) WATERAPPLE
(D) WATERPISTON

(A) TIET 12:30 st (B) S19ET 01:00 ¥t
(C) =sMET 01:15aF (D) TUET 12:45 T
(E) 3 aia 99

(TH. 10 ¥ 12) TH 5 AR FOAT a1 7Lt St a3t
AR FBIRT H TH FAIE A H T AT T F&F T
# 5 O W #1 aeH S g S AEERAd
FT 3 TFrfaiad 39S 3 TSt $T T Femon
g

Input : Various 26 Target 21 For 88 Host 54 Taste 46

IIOT | : For Various 26 Target 21 88 Host 54 Taste 46

IIOT 11 : Host For Various 26 Target 88 54 Taste 46 21

0T 111 : Taste Host For Various 26 Target 54 46 21 88

0T IV : Target Taste Host For Various 54 46 21 88 26

IO V : Various Target Taste Host For 46 21 88 26 54

=TT V 3t =TT B

= fgg U gAYe & fau fafwe =vor s sifs
3MISYS AT BT :
Input : Strike 82 Reference 25 Depends 38 Of 53 Wind 36

10.  TRO7 [H ‘Wind’ & ITg 3T BT TSR BT TRT T
g7
(A) 112 (B) 118
(C) 120 (D) 110
(E) 3mid ued
11. fq=fafga & 9 <19 91 9 =907 [[[H S0 87 &
Y 98 % 910 | GH & ?
(A) Depends (B) Wind
(C) Of (D) 53
(B) 37aid ueA
* SPZ8 4
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8. If in a certain language, ‘'ORANGE’ is coded as
‘QTCPIG/, then "YCVGTOGNQYT is the code for

which word ?

(A) WATERFILTER (B) WATERAPPLE
(C©) WATERMELON (D) WATERPISTON
(E) Question not attempted

- 5 A bny comes to meet his friend in the morning at

8:30 AM, he again comes at 9:15 AM then he
comes third time at 10:15 AM and the fourth time
he comes at 11:30 AM. When will he come again ?

(B)
(D)

(A) 12:30 PM 01:00 PM

(C) 01:15PM 12:45 PM

(E) Question not attempted

(Q. No. 10 to 12) A word and number arrangement
machine was given an input line of words and
numbers rearranges them following a particular rule
in each step. The following is an illustration of input
and rearrangement.

Input : Various 26 Target 21 For 88 Host 54 Taste 46
StepI :For Various 26 Target 21 88 Host 54 Taste 46
Step II : Host For Various 26 Target 88 54 Taste 46 21
Step III : Taste Host For Various 26 Target 54 46 21 88
Step IV : Target Taste Host For Various 54 46 21 88 26
Step V  : Various Target Taste Host For 46 21 88 26 54
Step V is the last step.

Find the various steps and final output for the input
given below :

Input : Strike 82 Reference 25 Depends 38 Of 53
Wind 36

What is the sum of the numbers that are towards
the right of "'Wind’ in Step 1 ?
(A) 112 (B)
(C) 120 (D)
(E) Question not attempted

10.

118
110

11, Which of the following elements is second to the

left of third element from right end in Step III ?
(A) Depends (B)
(©) Of (D)
(E) Question not attempted

Wind
53
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14.

15.

16.
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= |V

g d g s o =0T VA S8 8T ¥
T IS & A A G & 9

(A) Wind (B)
(C) 82

(E) 3maRd wed
HHET TERTIeAT H FTP T JUT 59 4T & ?

Depends
(D) 38

(A) PIg ZHBLT HIETDBict

(B) WIgH ZIEWE TICiHid

(C) A THHT WIShic

(D) WIgd gIATAT Aleihic

(E) 3mia ued

USCTH B FHGTT HIA FHG YT AR H

fefaied & 9 69 FHIS $T IUANT A&l 5

ST 22

(A) TRt Ta919 9Tee T TEl I=9R0T TieH &
T 9799 9eA

(B) fepdY fagta faum a7 e 9¥ SR @IS
% foro Re= g

(C) Tt fasiy ereg & fou goigaTHt 3T faas
T8 WisTH & a0 Ry Te+

(D) o=t Ffeat Bt AT & o7 It g
(E) 3aiRa 99

TEIfic | A ST BT BT GT THR JAHGT
T A& BT & 2

() aR® g
©) T sifdfeper

(E) 3aia 9eA
99 2023 H, TF Biclst H 5000 ST Al S0 P
GET Ut 99 24% St T F dg AT &l a9
2025 H FietsT H fpa= ferameft =i 2

(A) 9763 (B)
(C) 4232

(E) 3maia ued

(B) =T 3T 1A
(D) o&e 37T BT

7688
(D) 7244

12,

13.

14.

15.
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Which of the following elements is second to the
left of third element from right end in Step V ?

(A) Wind (B)
(C) 82 (D) 38
(E) Question not attempted

Depends

What is the full form of FIP in computer
terminology ?

(A) File Transfer Protocol

(B) File Transferred Protocol
(C) Form Transfer Protocol
(D) File Transmission Protocol
(E) Question not attempted

Which of the following commands is not used in
the proofing section while reviewing a
presentation ?

(A) Voice button to find the
pronunciation of a particular word

correct

(B) Research button to find information on a
particular topic or word

(C) Thesaurus button to find synonyms and

antonyms for a particular word

(D) Spelling button to check the spelling errors
(E) Question not attempted

Which is not a commonly used type of cell data
in Spreadsheet ?

(A) Numeric value (B) Date and time

Label and
Formula

(C) User authentication (D)

(E) Question not attempted

In the year 2023, there were 5000 students in a
college. The number of students is increased by
24% every year. How many students will be there
in the college in the year 2025 ?

(A) 9763 (B)
(C) 4232 (D)
(E) Question not attempted

7688
7244

P.T.O.
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= |V

T 777 wed § UF HUF F 915 oF T 131 1

feu 77 2| Fu= 3% 39F T fou U st @@

R &Y 3T 99+ 6 o9 a1 sed Fum

frpetar 2l

YA :

ST T RegaEit F Raes Tga ST T E,

T T & & e g Reaa &t 2|

forspy

[. T &R O

[I. TE FEAT (=T 3T &, BLAT Iq-7 3MHH
& 2l

(A) FHaeT R 11 3IETOT HIAT &

(B) = &t fashe 131 7 & 11 31807 HIAT B

(C) ==t =P 131T 11 37 ET 3 &

(D) Fae fA=pY | 3FEOT FHIAT &

(E) 3taRd wed

TH T HT 2100 F 94 9T, TH Al HI T 15 FT
AT BT 2| & g 9% & forg @ widerd s & 2

16,
23

(A) 11284,

7 (B)

© 1729
17

(E) 3maid wed
UF TASd # AR H 3Fqaq 252 AFTS
AT &, 3 37 f5Ai # 120 3Wiqs o &l A
TEM H, ot qaw ¥ = & T %, Ul fo=
HNTAHT B 3T TE&AT F4T & 2

(A) 172 (B) 139

(C) 142 (D) 184

(E) 3/ aia 99A

fr=feRea sofafag swefaat &1 395 Hom St
T % IR ARGl HH H FARAT HItod

i S i EXE]

iii.  SCHS iv. RIS

V. TS V1. ﬂﬁ?{[‘?ﬂ'

(A) (B) ii, v, Vi, iii, i, iv

(C) i, vi v, iii,iiv (D)

(E) 3aia 99

(D) 15%

11, Vi, V, 1, 111, 1V

1v, 1, 111, v, 11, V1

17,

18.

19.

20.
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The given question have a statement followed by
two conclusions I and II. Consider the statement
and the following conclusions and decide which
of the conclusions follow from the statement.

STATEMENT :

People who speak too much against bribery are

those who had taken it themselves.
CONCLUSIONS :
L. All people are corrupt.

I1. It is easier said than done.

(A) Only conclusion II follows

(B) Neither conclusion I nor II follows

(©)
(D)

Both conclusions I and 11 follow
Only conclusion I follows
(E) Question not attempted

By selling an article for < 100, a man gains < 15.
What is the gain percentage for the article ?

16 16
A 11—% B — %
ST, B 53
(©) 17%% D)  15%

(E) Question not attempted

A library has an average of 252 visitors on
Sundays, and 120 on other days. What is the
average number of visitors per day in the month
of June, beginning with a Sunday ?

(A) 172 (B)
(C) 142 (D)
(E) Question not attempted

139
184

Following geometrical figures in ascending order
based on the number of their angles.

i. Heptagon ii. Triangle
11i. Hexagon 1v. Decagon
V. Pentagon Vi. Quadrilateral

(A) ii, vi, v, i, iii, iv (B) i, v, vi, iii, i, iv
(D)

(E) Question not attempted

(©) ii, vi, v,iii, i, iv iv, i, iii, v, ii, vi
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o gfe R AR B F S %:g

fawifsa fear s, @t A &t feaat ofyr wre

(A) adR (B) abR
ad + bc ad + bc

(C)  abR (D)  adR
ac + bd ab + cd

(E) 3maid wed

22, fa=ferRaa onwT &, udis "*" fpa 3% =t S9rfar

27

*¥2 4k 4 | * 4+ *() = ] **

(A) 7 (B) 8

(C) 4 (D) 9

(E) 3/aiRa 99

23. fqHfeiigd # ¥ H9 A1 FYST Acds H T
THR TR & ?

(A) LAN (1T Ui Heash)

(B) MAN (Hgdffeies giar #eash)
(C) WAN (TTgE TRAT Acas)

PAN (THS TRAT A2d)

(E) 3taid wed

24. UHUH T (MS Word) H TAHTE H Hol AT B
g P9 F [0 f=feiigd 5 9 19 I 91 &

(D)

Tt BT ITTRT fepaT ST & 9

(A) Ctrl+ W (B) Ctrl+R
(€) Chl+k (D) Ctrl+ M
(E) 3aiRa 99

25. 399 & 37d H 220000 Bt IT 9T 31foTa FremIOT
TS 27200 & GH At & foro g\ iyt o3
T gT ¥ I1TSq Tshgis SUTsT T 2RI 2
(A) T 823232
(C) 887842

(E) 3qara ued

(B) ¥ 8098.56
(D) % 8641.75

X SPZ8 7

i.| 2L

24,

GET IT ON
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If ¥ R are divided between ‘A’ and ‘B’ in the ratio

of % : 5; then what is the amount that A shall
receive ?
(A) adR (B) abR
ad + bc ad + bc
(@ abR (D) adR
ac+ bd ab+ cd

(E) Question not attempted

In the following sum, which digit does the
symbol “*” stand for ?

¥D 4k 4 |k %)= | **

(A) 7
(©) 4
(E) Question not attempted

(B) 8
(D) 9

Which of the following is NOT a type of
computer network ?

(A) LAN (Large Area Network)

(B) MAN (Metropolitan Area Network)
(C) WAN (Wide Area Network)
(D) PAN (Personal Area Network)
(E) Question not attempted

Which of the following shortcut key is used to
close the currently open document in MS Word ?

(A) Ctrl+ W (B)
(C) Ctrl+K (D)

Cul+ R
Ctrl+ M

(E) Question not attempted

The simple interest accrued on a sum of I 20000
in 3 years is < 7200. What would be the
compound interest accrued on the same sum at
the same rate for the same period ?

(A) T 823232 (B) ¥ 8098.56
(C) % 8878.42 (D) % 8641.75

(E) Question not attempted

P.T.O.
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2. 5 T I TAT F 20% T, T ¥ qGA AT
AT & 3 TEN UihOT S R 3T Bt TS| st
IR Bt URHAT & AE YO H F U HT gfad
s
(A) 40% (B) 51.2%
(C) 60% (D) 25%
(E) 3MaiRa 9eA

27. G Z+Y B ITEZ 6 Z, YFT W &, “Z-Y’ FT
IFEF ZYyF AT 2 3N ‘ZxY’ FT 1A & 75
Z,Y ¥t 781 &l fa=feafaa & o fpgsr st 2 6
‘M’,“P’ T =TT & 2
(A) M+NxP+K (B) M+S+R+P
(C) M+=N+KxP (D) M+K=+=TxP
(E) 3aia 99

28. fymiferRaa ®§ ¥ HT AT 1024 TB (3aTE) F
TIET B 2
(A) 1 g&ft (vqETETEe) (B) 1 ATEET (FiETETST)
(©) 1 Siet (maTge) (D) 1 HHET (YeTeTEe)
(E) 3aid wed

29. T gar &t Grous® & aRT 75 em B 3T IS
afifer # 37T 44 cm B Q?I}f Eﬁﬁﬁlﬁ' g
(w=%zﬁrmhﬁ)
(A) 40cm, 35 cm (B) 41cm, 34 cm
(C) 39cm, 36 cm (D) 44cm,31cm
(E) 3aia 99

30.  9g 3% FHE I AT 3T F 7T 2
(A) 6(20)4 (B) 18(188)6
(C) 12(128)4 (D) 4(12)2
(E) 3aia 9eA

31.  fq=fafEa & & #1941 sm3eye feargw &9
(A) WISt (B) wrarS
(©) w=w (D) TR
(E) 3maia wed
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26.

27.

294

30.

31.

GET IT ON
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From a vessel containing pure milk, 20% is
replaced by water and the process is repeated
2 more times. At the end of the third operation,
the percentage of pure milk in the mixture is :

51.2%
25%

(A) 40%
(C) 60%

(E) Question not attempted

(B)
(D)

If ‘Z+Y’ means Z is the brother of Y, ‘Z+Y’ means
that Z is the father of Y and ‘ZxY’ means that Z is
the sister of Y. Which of the following means ‘M’
is the uncle of ‘P’ ?

(A) M+NxP+K (B) M+S+R=+P

(C) M+N+KxP (D) M+K+TxP

(E) Question not attempted

Which of the following is equivalent to 1024 TB
(Terabyte) ?
(A) 1EB (Exabyte) (B)

(D)

1 YB (Yottabyte)

(C) 1GB (Gigabyte) 1 PB (Petabyte)

(E) Question not attempted

The sum of the radii of two circles is 75 cm and
difference in their circumferences is 44 cm. The

radii of the circles are : (use 7™ = %)

(A) 40 cm, 35 cm
(C) 39 cm, 36 cm

41 cm, 34 cm

(B)
(D) 44cm,31cm

(E) Question not attempted

Choose the numeral group which is different
from others.

(A) 6(20)4
(C) 12 (128)4

(B)
(D)

18 (188) 6
4(12) 2

(E) Question not attempted
Which of the following is an output device ?
(B)
(D)

(E) Question not attempted

(A) Projector Keyboard

(C) Mouse Scanner
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32. famfeRaa srest &t aifes o0 # wyafyd &¢
37T feu U fasseat | 9 9al %9 &7 999 S

i. 9O i g5 i, PRI
v.  gd1 V. d=dI
(A) iii, v, i, iv, ii (B) v, iii, i, iv, ii

(C) iii, v, iv, i, ii
(E) 3raia 99
33. foAfREd ® ¥ $F 0T THR HT ST a9 a7
£ 3 oot sy & feag Sumhr fear Star &
StEt =St AT # AR TOET FY MGIIRAT BT

g7

(A) FGR TS
(B) #TghI-FHET
(©) uHae FH
(D) IR

(E) 3aia 99

34.  gY 9igpatt @t Froumd 201 F U # ¥ 3N 39
YA IRTER Bl IABT FATSIT H I ¢

(D) v, iii, iv, i, ii

(A) 1:2

(C) 1:4

(E) 3/ aRa 99F
35. UfeXATEe H HHEAT ST AW Bl FHC BIA B

AL Sar 2 2

(B) 2:1
(D) 1:8

36. Ta=feTiEa | ¥ 9 IAfafeT e &1 T
TBr B2

(A) HRJTET 0OS (B) creH-I9 WA
0S
(C) wHeet-ummt& T 0S (D) Aol 0S
(E) 3maid wed
* SPz8 9

32.

33.

35.

36.

GET IT ON
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Arrange the following words in a logical
sequence and select the correct sequence from the
options provided.

i. Adult 1i.
iv. Youth .

Old iii.
Child

Infant

(A) iii, v, i, iv, ii (B) v, iii, i, iv, ii

(C) iii, v, iv, i, il (D) w,iii, iv, i, ii
(E) Question not attempted

Which of the following types of computers are
the fastest and are employed for specialized
applications that require large amounts of
mathematical calculations ?

(A) Computer Notebooks
(B) Micro-computers
(C) Personal Computer
(D) Super-computers

(E) Question not attempted

The radii of two cones are in the ratio 2 : 1 and

their volumes are equal. The ratio of their heights
is

(A) 1:2 (B) 2:1
i 1:4 (D) 1:8
(E) Question not attempted

Which tab in PowerPoint allows you to insert the
shapes ?

(A) Review

(B) Insert

(C) Design

(D) View

(E) Question not attempted

Which of the following is not a classification of
operating system ?

(A) Multithreading OS (B)  Time-Batch
Processing OS
(C) Multi-programming (D)  Multitasking OS
OS
(E) Question not attempted
P.T.O.
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37. x,yﬁ%ﬁ@%lﬁﬂ%ﬁmmy,xﬁm
g

1

1

A) 27=% B) 33=%

(A) g ) o
1 1

C) 87-% D) 83=%

(G 645 SIS

(E) 3m@ia 99A

38. fU U HUAT &F IMIR UT FHIA I [ASHU
T peTT| 719 ST 76 fgu 1w e a2 &
Y :
HIs A, BAEl &l
S B,CZ|
|qHT C,DEI
ey .
.  F8S A,DE, TE TF GHIIAT
. HA,CEl
(A) Faer =BT 11 ATV FHIAT B
(B) Tspd 13TR 11 ST T8R0T H3d &
(©) =T ar 13r 11 sy 3 EeoTr HIav &
(D) aer frspd [ 3ETOr FHIaT B
(E) 3 aia 99

39. If¢ UF THFMER UF U FT (9567 Je7 T 800 &

TeTHY T 780 FHX AT &, AT IWHL BN 2% o3
STt B| 9" BT T Ao B

(A) %1000 (B) %1200
(C) %1500 (D) 900
(E) 3aia 9=

40. 4 99l & T 22000 9T ST ICRT-3TENT Al o
YTe FTEOT AT H 37a¥ 280 & Ih! =TT a4

ﬁam%

(A) 1.25% (B) 1.75%
(C) 2% (D) 1%
(E) 3aia 99
41. FogeX fagm & g7 | f=farga § ¥ SSD & |41
ot &9 T & 2
(A) THTERST T (B) AT T
(O) Htert TR feargw (D) o ©Rw feargw
(E) 3aiRa 99
* SPZ8 10

37.

38.

39,

40.
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x is six times as large as y. The percentage by
which y is less than x, is :

1

1)
A) 27-% B 33— %
(A) 27, B) 333
1 1
O 8—-% D) 83— %
©) 875 (D) 833

(E) Question not attempted

Which conclusion would follow on the basis of
given statements. Assume that given statements
are fact.

STATEMENTS :

No A is B.

Some B are C.

All C are D.

CONCLUSIONS :

L Some A are D is a possibility.
1. All A are C.

(A)
(B)
©)
(D)
(E)
If a shopkeeper reduces the selling price of a fan

from X 800 to X 780, his loss increases by 2%. The
cost price of the fan is :

Only conclusion II follows

Both conclusions I and 1II follow
Either I or II conclusion follows
Only conclusion I follows

Question not attempted

< 1200
< 900

(A) X 1000 (B)
(C) <1500 (D)
(E) Question not attempted

The difference between the simple interest
received from two different sources on < 2000 for
4 years is X 80. The difference between their rate
of interest is :

(A) 1.25% (B)
(©) 2% (D)
(E) Question not attempted

1.75%
1%

In the field of computer science, which of the
following is the full form of SSD ?

(A) Semi Storage Drive (B)  Solid State
Drive

(C) Solo Storage Device (D)  Short Storage
Device

(E) Question not attempted
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2. U 3MTT FT ARATT 120 Hex ¥ afs saHt Fars
DI TSl ¥ IR &, T 3T BT T &
(A) 240 m2 (B) 360 m2
(C) 400 m2 (D) 800 m2
(B) 37=id ueA

43. u% A 10 g it afa ¥ 9 & B u9S
fheTiHicT & a1e 98 5 9T 3 +ar 2l 39
i RT 5 AT &t g a9 w4 H forar
W%:
(A) 30 e (B) 45 e
(C) 355 e (D) 50 v
(B) 37aid weA

4. U BEWOTE! F IFER e # "
FI9 AT FHET B AV H FqE( 3T & 2
(A) THTANT (IS EES
(C) fefstem (D) zTsfere
(B) 37aid ueA

45. et 9 U FidET #@E T 10200 # <= 39
-39 H I 15% BT &1 ggl 39 FILRT J
oFe o9 T¥ TRAST AT 9
(A) T 12000 (B) T 12400
(C) T 10800 (D) T 11200
(B) 37aid ueA

46. TWT 6425798 H 3B B ST FHH H
[AHIRIT FIA F aIg fhad 3BT ot Rufq
srqiyataa & 2
(A) =t (B) o
(C) = D) ©=*
(B) 37qaid ueA

47.  3RTST f9TH HT B TT 9SF BEAT & FATHT
¥ foro SR 29
(A) FHRY Ao (B) wEH HAST
(C) feag@gEw® (D) wigd faed # R
(B) 37aid 9eA

* SPZ8 11
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42,

43.

44.

45.

46.

47.

GET IT ON
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The perimeter of a rectangle is 120 m. If its length
is twice its breadth, then the area of the rectangle
1S

(A) 240 m? (B)
(©) 400 m? (D)
(E) Question not attempted

360 m?2
800 m?2

A man is walking at a speed of 10 km/h. After
every kilometer, he rests for 5 minutes. The time
taken to cover a distance of 5 km by the man is :

(A) 30 minutes (B) 45 minutes

(C) 55 minutes (D) 50 minutes

(E) Question not attempted

According to their functioning, which of the
following is not a category of computers ?

(A) Analog (B) Hydrobrid

(C) Digital (D) Hybrid

(E) Question not attempted

Shilpi sold a washing machine for I 10200. She
incurred a loss of 15% in this transaction. At what
price did she buy the washing machine ?

(A) ¥ 12000 (B) 12400
(C) T 10800 (D) T 11200
(E) Question not attempted

The position of how many digits in the number
642579 8 will remain unchanged after the
digits are rearranged in ascending order within
the number :

(A) Two (B) Three

(C) Four (D) One

(E) Question not attempted

Which component of an operating system is
responsible for managing the files ?

(A) Memory Manager (B) Process Manager

(C) Device Driver (D) File System

Manager

(E) Question not attempted

P.T.O.
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SEEL) AT fed &1 UF
gfar &

(A) #Ht T (B) eTgH It g
(©) 3= =i (D) TFeTise AT

(E) 3maiRa 99

fr=1 srpfaat =+ e ¥ 29 3T 3BT (i) H
AT F=AT AT F

64 st 36 Yll 100\ /19
6 5 ?
(1) (i) (iid)

(A) 3 (B) 7
(C) 9 (D) 8
(E) 3mid ued

50. &t g% SMHIAT Bl oA ¥ I I IMHIA (i) A
A =T A1 B

() i (i)

(A) 220 (B) 218
(C) 219 (D) 217
(E) 3Maia 9eA

51. 39 OF Ht IR AW FH T &l 3T Ifromad
(TSt Bt TS H) 45° Hd & MR B amETEd
(TSt B fauia fgem /) 180° Hzd 2| AT & 3w
greToTTa (TSt FF fGem H) 270° H3A El AT 3T
fora faem &t 31T 7w+ @2 £ 7
(A) SRIT-aie=A (B) uiy=H
(C) I-ga (D) gferor
(E) 3aid wed

% SPZ8

48.
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Linux is a family of operating

system.

(A) Multi source (B) Time sharing
source

(C) Open source (D) Closed source
(E) Question not attempted

Observe the following figures carefully and find
the missing number in figure (iii).

64 Yza 36 Yll 100\ /19
6 5 ?
(i) (i1) (iii)
(A) 3 (B) 7
©) 9 (D) 38
(E) Question not attempted
50. Observe the given figures carefully and find the
missing number in the figure (iii).

51.

12

() (i (i)
(A) 220 (B) 218

(C) 219 (D) 217

(E) Question not attempted

You are facing East. You turn 45° in the clockwise
direction and then 180° in the anti-clockwise

direction. Again you turn 270° in the clockwise
direction. Which direction are you facing now ?

(A) South-West (B) West

(C) North-East (D) South

(E) Question not attempted
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52. TUHUH d9T (MS Word) H EEUeis S & {10
= # & F9 A oTicHe Foil (key) BT ITANT

fepa STTaT & 9

(A) Alt+X (B) Ctrl+K
(C) Ctrl+S (D) Ctrl+F
(E) 3MaiRa 9=

53. I H HISTH $I 3erpad AT [BEH rgentyd
BT & 9
A9 feu Ty faseat 9 9 Q¥ S9gEd 3T I |

(A) ez (Sfera™) (B) AT (SHTHTH)
(C) 3ferTet (FrpH) (D) &I (F3MH)
(E) 3aid wed

54.  HaTs & HERTON FY fHE & STENT B BT A 2

(A) SIHT 37T (B) HIaIeTST UTHA ST
() vt IR g (D) STee™
(E) 3aiRa 99A

55. ISR P WRA-9TH 9ET 9T Y 9 ST
"I e BT IATAT I1GT AT 2

= feu U faweat # 9 SO SUgEA 37X A |

(A) T g1 T (FTHTH)

(B) e ITeifiTer e ot (HRETHTH)
(C) Fara Ree Iferd Ie (FIRUITF)

(D) 9Ra fosaa T I (3meerardT)

(E) 3taid wed
56.  helT Ial B WAl ZIT MY FTH qTed "THLET I | 56.
TS % Bpg &5 # arig 29
4 fgu o fasedl # & AW SUYE 3T IH |
(A) SHeHT (B) Lrelt
(©) =TT (D) T
(E) 3taiRd wed
* SPZ8 13
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Which of the following shortcut key is used to
insert a hyperlink in MS Word ?

(A) Alt+X (B)
(C) Ctrl+S (D)
(E) Question not attempted

Ctrl + K
Ctrl + F

Maximum amount of food is absorbed in the
blood in :

Choose the most appropriate answer from the
options given below.

(A) Ileum (B)  Esophagus
(Oesophagus)
(C) Caecum (D) Duodenum

(E) Question not attempted

Who was the court poet of Maharana of Mewar,
Shambhu Singh ?

(A) Dursa Adha (B) Kaviraj Shyamal
Das
(C©) Baviji Chatur Singh (D) Dayaldas

(E) Question not attempted

“Operation Sard Hawa” was conducted by which
of the following in the Indo-Pak border of
Rajasthan ?

Choose the most appropriate answer from the
options given below.

(A) Border Security Force (BSF)

(B) Central Industrial Security Force (CISF)
(C) Central Reserve Police Force (CRPF)
(D) Indo Tibetan Border Police (ITBP)

(E) Question not attempted

‘Languriya’ songs sung by the devotees of Kela
Devi are very popular in which region of
Rajasthan ?

Choose the most appropriate answer from the
options given below.

(A) Jaisalmer (B)

(D)

(E) Question not attempted

Karauli

(C) Dholpur Mewar

P.T.O.
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57.

58.

2%,

60.

61.

62.

X SPZ8

= |V

T % ot HaTferaem #t g 1 #ar § 9
(A) I=F AT F 7T AT

(B) =99t

(C) fawer & =ar

(D) wdthY

(E) 3MaiRa 99

faefefga & @ 9 @ wonfa W &
IWTH T T ASTEER =1 H 15 ATt & 2

(A) etew (T ge)  (B) &g«

(C) =i (1) (D) fer

(E) 3Maia 99

e & O Frad @afy o1 g9 9wa 78
2?
J1 f5U U ot # ¥ w9 SugEd 39 94 |

(A) arg (B) feata

(C) vegHitaH (D) o=

(E) 37 aRRa 99F

HEA 3R MaER & T & Hefarea 7 9
fFa &7 # = I Rud 22

(A) gferor fgaT= (B) #em 3fEA
(©) e fprar (D) It si=HH
(E) 3aia 99

FY F T H HYV FT 0 59 2

(A) &g difeeT Tt

(B) gifcwear diee Tt

(C) T dRE IITet

(D) #¥7 I+ ISt

(E) 37 aiRa 99

TR F fpe TS 3UTE H U goiw AiATERT
T "B AT ITET AT R 2

(A) I AT A

(B) TSI A Ul

(C) TOTEWIT I IATH

(D) FHacTed IS IATH

(E) 3maid ued

57.

58.

59.

60.

61.

62.
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Who appoints the Advocate General for the
state ?

(A) Chief Justice of High Court
(B) Governor

(C) Leader of Opposition

(D) Speaker

(E) Question not attempted

Which of the following species is found in the
Tropical Evergreen Forests of India ?

(A) Rosewood (B) Babool
(C) Pine (D) Birch
(E) Question not attempted

In which of the following the transmission of
sound is NOT possible ?

Choose the most appropriate answer from the
options given below.

(A) Air (B) Vacuum
(C) Aluminium (D) Water
(E) Question not attempted

In which of the following regions of the
Andaman and Nicobar islands is the Saddle Peak

located ?

(A) South Andaman (B) Middle
Andaman

(C) Great Nicobar (D) North
Andaman

(E) Question not attempted

In the field of agriculture, the full form of HYV
1S :

(A) High Yielding Variety

(B) Horticulture Yield Variety
(C) Honey Yeast Variety

(D) Hemp Yarn Variety

(E) Question not attempted

A rare carnivorous plant ‘Utricularia’ has been
found at which National Park in Rajasthan ?

(A) Darrah National Park

(B) Desert National Park

(C©) Ranthambore National Park
(D) Keoladeo National Park

(E) Question not attempted
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63. ISqAl B @t B oRA-pE fagia fewe|63.
giaTied 64T 2
(A) == aETg A (B) weg
(C) SrERTS (D) 3FR JEIT A
(E) 3taiRd wed
64. TG ¥ TTTT BT FAT Fad & 7 64.
(A) HgmRITE (B) STrared faam
(gasfe)
(C) =TgHIATSH (D) TR (TTTT)
(E) 3aid wed
65. fAfeiREd & ¥ HI19 fHAT 9T FHT =T THART |65.
TR & 2
(A) 5T P
(B) THEL3M. (TTHSA ARrHT)
(O) TEdIEER
(D) HWAT 3
(E) 3maRd wed
66. THHTREd H§ ¥ P AT 9T & TG BT |66.
" P F AT AT 2 2
(A) gferH (B) @A
(©) & (D) s
(E) 3aiRa 99
67. OfREHT GE $I FATS I Fdl AT 2 67.
(A) 9o & qi=H (B) sferor & 4o
(C) I | gieror (D) ufy=s & 99
(E) 3taiRd wed
68. WG WL HI TRST F T ada 21 FHT 7TT |68.
2 MHfafEa A R AT & 2
(A) Siraq 3R AfFEa Taaar St T H
3TETHE
(B) sTuvT & sz ITfRrepr
(C) eITTHes Ta=aT $T IEhI
(D) FATAAT BT ITIBHT
(E) 3aia 99
* SPZ8 15
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Who propounded the Agni-kund theory of the
origin of the Rajputs ?

(A) Chandra Bardai (B)
(C) Jodhraj

Barui

(D)  Amir Khusro

(E) Question not attempted
What is the study of inscriptions called ?

(A) Numismatics (B)  Palaeontology

(C) Mycology (D) Epigraphy

(E) Question not attempted

Who among the following is the main officer
in-charge of the district administration ?

(A) District Collector

(B) S.D.O. (Sub-Divisional Officer)
(C) Tehsildar

(D) Division Commissioner
(E) Question not attempted

Which one of the following comes under the
“State List” of the Constitution of India ?

(A) Police (B) Forest

(C) Defence (D) Banking

(E) Question not attempted

The height of Western Ghats progressively
increases from :

(A) Eastto West (B)
(D)

(E) Question not attempted

South to East
(C) North to South West to East

Which of the following is the main object of
Article 21 of the Indian Constitution guarantee ?

(A) Right to Protection to life and Personal

Liberty
(B) Right Against Exploitation
(C) Right to Freedom of Religion

(D) Right to Equality

(E) Question not attempted

P.T.O.
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69. faeg firew uftwg (sl F ToRET F
frfeaiaa # 9 e == & 'Tasg fiea R
it femam 29
(A) 37eTET (B) IHeHT
(© s (D) 3Igaqe
(E) 3maiRa 99

70. 10 WIA, 2025 HI ATRATH A6 TGT AR F
378 (TATATIH) HIF 2 2
(A) wftede B Had g el
(B) =f. #9 emAT
(C) =t FHeArer =g Ao
(D) =Y. TIrtar 3
(E) 3aia 9eA

71.  THSell diST WSS FOT JAIIT B TSI 5 6
# | HATg ATl & 2
(A) SR (B) It
(C) IR (D) &t
(B) 37aid ueA

72, fARfafEd #§ § $9 T R TSI & EoTal
% 99 I uiag 22
(A) frrg (B) 3mHEL
(C) wtett (D) Teeraret
(E) 3taRd ued

73.  dtaet us fagenq & feer fHmior g &

(A) qiaT 3T feq
(B) dfaT 3T ST
(C) T, FIET 3T F=T
(D) 4T 37X fe=
(E) 37aiid ueA

74. TS § WP BT BT G UET TIET IJTNT P
qE B 2 7
(A) e (B) 3R
(©) =mEq (D) fae R
(E) 3raRd wed
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World Crafts Council (WCC) has declared which
of the following places of Rajasthan as “World
Craft City’ ?

(A) Alwar Jaisalmer

(B)

(C) Jaipur (D) Udaipur
(E) Question not attempted

As on February 10, 2025, who is the Chairman
(officiating) of the Rajasthan Public Service
Commission ?

(A) Lt. Col. Kesari Singh Rathore
(B)
(©)
(D)

(E)

In which area of Rajasthan is the Kajli Teej
celebrated on Bhadrapad Krishna Tritiya ?

(B)
(D)

Dr. Manju Sharma
Sh. Kailash Chand Meena
Dr. Sangeeta Arya

Question not attempted

(A) Jodhpur

Karauli

(C) Alwar Bundi
(E) Question not attempted

Which of the following places is famously known
as the Khajuraho of Rajasthan ?

(B)
(D)

(A) Kiradu
(C) Badoli

Abhaneri
Dilwara
(E) Question not attempted

Brass is an alloy made up of :

(A)
(B)
(©)
(D)
(E)

In Rajasthan, which town of Sikar is a famous
centre of the gota industry ?

(B)
(D)

Copper and tin
Copper and zinc
Gold, iron and zinc
Lead and tin

Question not attempted

A) Khandela Amer
(A)

(C) Shahpura Virat Nagar

(E) Question not attempted
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g9
(A) sitfaa gftor S
(B) 3THIFATHIT St
(C) fafsra S
(D) qAIRTST ST
(E) 3raiid ued

76. WA H e & rOIE WA F GHE B
T & 2
(A) Tasty AR AfTge
(B) fasry =iyes ARG
Q) S Al
(D) @9 fefasHa alsge
(E) 3mid ued

77.  fam=fafEa | @ A 1969 § SOR B, TH
FHIAH 3I[T BT NTaSHR THAT A7 2
(A) =Y. 9. WSt (B) =¥ fase Hreq
(©) =F.dg et (D) Fx=g Fheer
(E) 3aiRa 99

78. SR # WEH T 3R WO HI¥ AFERIMGR
gdell i T 22
(A) 9WTR &t gdeit  (B) gdl Bi gaal
(C) w™IE gdatt (D) =< =t Zdet
(E) 3aia 99

79. WA FT FIH SHI0i forg FHEerr &
(A) giew |rEge (B) Efewr FIct w|TEe
(C) Teptary =g (D) sramet
(E) 3aiRa 99
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Oral Sabin Polio wvaccine is
vaccine ?

which type of

(A)
(B)
(©)
(D)

(E)

Who is the head of criminal administration of the
district in India ?

Live Attenuated Vaccines
Acellular Vaccines
Inactivated Vaccines
Recombinant Vaccine

Question not attempted

(A) Special Munsif Magistrate
(B) Special Judicial Magistrate
(C) District Magistrate

(D) Sub Divisional Magistrate
(E) Question not attempted

Who among the following co-invented the Jaipur
foot, an artificial limb in 1969 ?

(A) Dr. P.K. Sethi (B) Dr. Vishwa
Mohan

(C) Dr.Ved Prakash (D) Karpurchand
Kulish

(E) Question not attempted

Which is the largest and most beautifully carved
haveli in Jaisalmer ?

(A) Bagore ki Haveli  (B) Patwon ki
Haveli

(C) Samode Haveli (D) Char Chowk
Haveli

(E) Question not attempted

The Southernmost point of India is called :

(A) Indira Point (B) Indira Col Point
(C) Kibithu Point (D) Kavaratti
(E) Question not attempted

P.T.O.
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80. fewrem & fa=fefEa § @ Rew 9wwT # LT
GTIAT 9TS ST 2 2

(A) 3BT TEATT
(B) =rfsitert 3w fafrss feare

(©) 3mH fewET
(D) HAR &A™
(B) 3qaia ued
81. FG W I T (CAPF) F 5 o (W)
# Higarstt &1 gfafatreT g99 317 2 2
A= fgu v fapedl # ¥ QO SUYE 3T TIH |
(A) FHET I I
(B) wRd fofeaa HHT qfetd
(C) =t RIS FET T
(D) 379H TgHeH
(E) 3raid ued
82. fAmtailEd H ¥ HF A A<t €T Tet (Roe Ief)
q &t 5 2
(A) T (B)
(C) =T (D) sieH
(E) 3m@Rd wed
83. 37T WHIS F TWRATIH HiA A ?
(A) @ gOTHE It
(B) TSI IHAEA T
(C) g =g faammr
(D) @wmHT faasH—<
(E) ST ued
84. TSN IT@ WG F IAAE AT AT
HIF 2 2 (32025 F IAX)

(A) AEAR o TEER

(B) #=HIT gasiia g

(C) AHAM™ AFIS FHAR W

(D) AT A AlgA Hrarda
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In which of the following divisions of the
Himalayas is the Karewa formation found ?

(A) Arunachal Himalayas

(B) Darjeeling and Sikkim Himalayas
©)
(D)

(E) Question not attempted

Assam Himalayas

Kashmir Himalayas

Which force has the highest representation of
women among the Central Armed Police Forces

(CAPF's) ?
Choose the most appropriate answer from the
options given below.

(A) Border Security Force

(B) Indo Tibetan Border Police

(C) Central Industrial Security Force
(D) Assam Rifles

(E) Question not attempted

Which of the following rivers flows in a rift
valley ?
(A) Luni (B) Ravi

(C) Narmada (D)  Jhelum
(E) Question not attempted

Who was the founder of Arya Samaj ?
(A) Swami Dayanand Saraswati

(B) Raja Rammohan Roy

(C) Ishwar Chandra Vidyasagar

(D) Swami Vivekananda

(E) Question not attempted

Who is the current Chief Justice of Rajasthan
High Court ? (As on June 2025)

(A) Hon'ble Shree Chandrashekhar

(B) Hon’'ble Inderjeet Singh

(C©) Hon’ble Manoj Kumar Garg

(D) Hon'ble Manindra Mohan Shrivastava

(E) Question not attempted
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(A) T[T &6 JAT 3MANT & 3797

(B) HEHEAT
(C) U= Ud AgET T3eTH
(D) HETreraeT

(E) 3aRa 99

WA Giaems 96T & $1a1 97 JiHfd &7 A9«
forae fopam 2

(A) ST, ATaERT
(B) dt. ugriv Haqresan
(C) FUA."ES

(D) R, Haft

(E) 3¥@Ra ued

dI=IChT & UNMdards oy 69 9 9
et &2

(A) TSTRITAH

(C) S

(E) 3id wed

STt & 2

(A) Irsgafd
(C) wfafige

(E) 3aia wed

TR B ad 3 IU-ATHEgE  f=aH -
1973 W] & 747 2

(A) 3 SEER, 1973
(©) 33,1973

i

(B)
(D) 9 ==t

(B) 3 #g, 1973
(D) 3 ®IE, 1973
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Which of the following appointments is not made
by the Governor of a state ?

(A) Chairman of the State Public Service

Commission

(B) Chief Minister
©
(D)
(E)

Who led the committee on the functions of the
Indian Constituent Assembly ?

Comptroller and Auditor General
Advocate General

Question not attempted

(A) G.V.Mavalankar

(B) B. Pattabhi Sitaramayya
(C) J.L. Nehru

(D) K.M. Munshi

(E) Question not attempted

Prehistoric Rock Shelters of Bhimbetka belongs to
which state ?

(A) Rajasthan (B) Madhya
Pradesh
(C) Karnataka (D) Haryana

(E) Question not attempted

The Chief Minister of a state is appointed by the :

(A) President Governor

(B)

(C) The Council of (D)

Ministers

Prime Minister

(E) Question not attempted

The Rajasthan Lokayukta and Up-Lokayuktas
Act - 1973 have come into force on the :

(A) 3tdjanuary, 1973 (B)  3rd May, 1973
(C) 3rd June, 1973 (D) 3rd February,
1973

(E) Question not attempted

P.T.O.
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(A) aitpgT (B) Tt
(©) (D) &I
(E) 3aiRa 99
91. fa=fafaa # ¥ fpg ad # 3fUs o |t gur
T FATHA FIA & (77 FHTA Liaa 641 2
(A) 1820 (B) 1875
(C) 1829 (D) 1833
(E) Saia ued
92. faefeiaa # & T gfte 319 &t IR W
T ITUNT HI6 Sip (AT ST FhaT & 2
(A) STRIGISHTET (SRETiEn)
(B) stfergesar (TRemie™)
(C) Fgite (grguewgiftam)
(D) e gfte (wmaiftan)
(E) 3aiid ueA
93.  WRAM HaeT= H AIAdT YT BT T 2
(A) HifeT® TTHER
(B) #Hz 3T TS BRI &b arg rfFaar o
feraoT
(C) HifeT® Haed
(D) d=TIdt TS
(E) 3taiRd wed

9. fHE uag AW A WRAH™ dfgeE & O'Ha
AT fagia” St RITaET 2

(A) 2T HTEAT I9T9 WT 99 (1992)
(B) HhT e I9TH WA 99 (1978)

(C) HITATHE AT T TSAdS TATH BIA 59
(1973)

(D) Tt T8 ISR T (1997)
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Which of the following is not an instrument used
in Gair Dance ?

(A) Bankiya (B) Thali

(C) Gairiye (D) Dhol

(E) Question not attempted

In which of the following years did the British
establish the law to abolish “Sati Pratha” ?

(A) 1820 (B)
(C) 1829 (D)

1875
1833
(E) Question not attempted

Which of the following defects of vision can be
corrected by using cylindrical lenses ?

(A) Presbyopia
(B) Astigmatism
©)

(D)

Hypermetropia
Myopia
(E) Question not attempted

Seventh Schedule in the Indian Constitution is

concerned with :
(A) Fundamental Rights

(B) Distribution of powers between the Centre
and State governments

Fundamental Duties

©
(D) Panchayati Raj
(E) Question not attempted

Which famous case established the “Basic
Structure Doctrine” of the Indian Constitution ?

(A) Indra Sawhney vs. Union of India (1992)
(B) Maneka Gandhi vs. Union of India (1978)

(C) Kesavananda Bharati Sri Padagalavaru vs.

State of Kerala (1973)
(D) Vishakha vs. State of Rajasthan (1997)

(E) Question not attempted
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(B) uraiss AT
(D) 37rergeRs AT

(A) sm=OTeTg
(C) guor

(E) 37aRRa 99
FICATERT qRTA T 6 T H I STar & 2

(B) s&fmom

(D)

Il

(E) 3mid wed

fr=feRea & ¥ fFee 1739 & WG 9T 3pH0T
BT 2

(A) 3aTSTe
(©) T
(E) 3aRa 99

A dfou™ #7549 q@rie #9E % fdv
T 3T BT ATH T & 2

(B) <TeT IR
(D) aITtes AT

(A) HATgTH FRTSHAT AT
(B) AR Wiqer=, &R faa
(O) &HM Higem=, g9 faear™
(D) AT |, gART THAT

(E) 3maid wed
AT FT 9 g [hh S ST 4T AT 2

(A) TRAMHT AT T M

(B) gARTS =ita™ 3R Agwg TR
(C) FIGEM UH 3T Feaa AT
(D) SeqarasT 3 gt diem

(E) 3aid ued
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Which of the following glands acts as both
exocrine and endocrine glands ?

(A) Pancreas (B)
(D)

(E) Question not attempted

Thyroid gland

(C) Testes Adrenal gland

Kalibanga Archaeological site is found in which

state ?
(A) Punjab (B)

(D)

Haryana

(C) Gujarat Rajasthan

(E) Question not attempted

Who among the following invaded India in
1739 ?

(A) Aurangzeb Nadir Shah

(B)

(C) Babur (D) Ibrahim Lodhi
(E) Question not attempted

What is the tagline of the campaign announced to

commemorate the 75th anniversary of the Indian
Constitution ?

(A)
(B)
©
(D)
(E)
The

Constitution Awareness Drive

Hamara Samvidhan, Hamara Vigyaan
Hamara Samvidhan, Hamara Viswash
Hamara Samvidhan, Hamara Swabhiman
Question not attempted

first battle of Tarain was fought between
and

(A) Itutmish and Muhammad of Ghor
(B)
©
(D)

(E)

Prithviraj Chauhan and Muhammad of Ghor
Qutub-ud-din Aibak and Iltutmish
[Itutmish and Prithviraj Chauhan

Question not attempted

P.T.O.
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(A) =T, TEiE gaT

(B) . STaATEX A AE®

(C) TGN ToaTH WE Ted

(D) =¥, 91377, S

(E) 3MaiRa 9eA

"grat I pAanl” fHEs Fw ot g 20
(A) et FARY (B)  fteTeT

(C) fasragT gor (D) HTerEg foardt

(E) 3mia ued
fa=foRaa ¥ ¥ fFaa deer AEfaer (ATeer
feryafaarers) T T &1 9

(A) 3TiEdE-]

(B) 31STTasTy
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102.

(E) 3MaiRa 99

frAfeRad | & $19 @7 Uit & HHrai #
AT FRTAT & 2

At feu Ty faseat ¥ ¥ Q¥ S9gEd 3T I |

103.

(E) 3aia 99
fFa=r 1857 @t wifa = fage =& afes =@
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Who among the following played the most
important role in the National Unification ?

Choose the most appropriate answer from the
options given below.

(A) Dr. Rajendra Prasad

(B) Pt. Jawahar Lal Nehru
(C) Sardar Vallabh Bhai Patel
(D) Dr. B.R. Ambedkar

(E) Question not attempted

“Baataan ri Phulwari” is written by

(A) Laxmi Kumari (B)  Shrilal
(C) Vijaydan Detha (D) Malchand
Tiwari

(E) Question not attempted

Who among the following founded Nalanda
Mahavihara (Nalanda University) ?

(A)
(B)
(©)
(D)
(E)

Among the following, which agency conducts
election to the local bodies ?

Aditya-I

Ajatashatru
Kumargupta-I
Chandragupta Maurya

Question not attempted

Choose the most appropriate answer from the
options given below.

(A) State Election Commission

(B) Local bodies themselves

(C) Central Government

(D) National Election Commission
(E) Question not attempted

Who did not term the revolution of 1857 as a
revolt, but instead, called it as the first war of
Indian Independence ?

(A) Veer Savarkar

(B) Madan Lal Dhingra
(C) Lokmanya Tilak
(D) Shyamji Verma

(E) Question not attempted
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105. WA &7 ISAT BSEoA faavor &9
;3%‘“ e F EE U9 fae Fg 7 =
(A) SR (B) wileTaTs
(©) ZFeTETg (D) feeait
(E) Said e
106. fHfeIiEd | & HiF 99 TR H MHAA &l 2 2
(A) B (B) aSsit
(C) rHaTs (D) dregsit
(E) STaid s
107.  #ATSE YferaR WRA H Faf R 292
(A) afy=st °me
(B) Tewmerg &t faratfars aaaHTen
Q) e frpar
(D) wgrEtd
(E) 3taRd wed
108.  wWTEY 91 FT AT ATHS B AT 2
(A) B WAIET (B) oIuThI
(©) Tasas (D) STaTeR f4E
(E) S¥Rd 99
109.  off HETIIRSIT AT TSRATH & 6T g H At
BT & ?
(A) wpTR (B) TaiEd
(©) TR (D) St
(E) 3t aid wed
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India’s first Hydrogen dispensing station is
operational at Indian Oil’s R and D centre in

(A) Jaipur (B) Faridabad

(C) Hyderabad (D) Delhi

(E) Question not attempted

Who among the following is not included in the
Panch Pir ?

(A) Harbhuji

(B) Tejaji

(C) Ramdevji (D) Pabuji

(E) Question not attempted

Where Mount Thullier is located in India ?
(A) Western Ghat

(B) Shiwalik Ranges of Himalayas

(C) Great Nicobar

(D) Lakshadweep

(E) Question not attempted

Who was the last ruler of Bhati Dynasty ?

(A) Hararai Bhati Lunkaran

(B)

(C) Vijairaj (D) Jawahar Singh

(E) Question not attempted

In which region of Rajasthan is the Shri Mahavirji
fair organised ?

(A) Bikaner Sirohi

(B)

(C) Alwar (D) Karauli

(E) Question not attempted

P.T.O.
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(E) 3aRa 99
SIS e A BT At FHH g aqarg 22 | 111
(A) FIEER g (B) SewEg s
(C) wag PR g (D) B2 giie
(E) 3aid wed
TERAT TH & TIH 7= a1 3T HiF o 2 (112,
(A) =t 3mesiia f9g (B) ot TH.EL. SR
O #tgssi@am=r (D) 4t wa®. A
(E) 3mia ued
S fopdt =g ot faum=EET &1 99 @t 99 w@r|113.
& T 3TeATET B AR BT Fhal & 7
(A) I (B) wdiehY
(©)  TrSguTe (D) Fget
(E) 3aid wed
FEfaEd § ¥ Hi9 O JERT geE S| 114,
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(A) THdt (B) J@T I (Rhew)
(©) wr=y (D) -ary
(E) 3aid wed
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H ¥ fpd gerelt ¥ geATa o T 2
(A) 3o fSerg arg (B) ART AT
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Name the founder of the Parmar Dynasty of Abu.

(B)

(D)

(A) Dharavarsh Dalail Singh

(C) Pratap Singh Dhumraj

(E) Question not attempted

Which artificial lake is built by Ajayraj Chauhan ?

(A) Anasagar Lake (B) Balsamand Lake
(C) Fateh Sagar Lake (D) Pushkar Lake

(E) Question not attempted

Who was the first Chief Information

Commissioner of Rajasthan State ?

(A) Shri Amarjit Singh (B) Shri M.D. Kaurani

(C) Shri Indrajit
Khanna

(D) Shri N.K. Jain

(E) Question not attempted

Who can promulgate ordinances when the State
Legislative Assembly of a state is not in session ?

(A) President (B)

(D)

Speaker

(C) Governor Chief Minister

(E) Question not attempted

Which of the following diseases is caused by
Protein Energy Malnutrition (PEM) ?

(A) Scurvy (B) Rickets

(C) Marasmus (D) Beri-Beri

(E) Question not attempted

Who among the following was awarded the
Padma Shri for exceptional contribution to
Maand singing ?

(A) Allah Jilai Bai Meera Bai

(B)

(C) Rana Bai (D) Gavari Devi

(E) Question not attempted
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116. o9 == 3MORT (THSED) TSETE T T84
AT ?
(A) 3=T 243K (B) 3T=5T 143K
(C) 3 =T 115A (D) 31=3T 249K
(E) 3aia 9
117. 59 AFGHUHR AN F 3™AY Fl Had HTH
ST BT ST JhaT & 2
(A) IrsgHra (B) H&IHAT
(© Iz ==t (D) T=gUTH
(E) 3maia 9
118. “U¥cq UT UCldacial 3% TAT” F oS B
AT FATSU
(A) =T MR 3fgm (B) 919 WIS
(C) =+ ST 2 (D) SaTaT 9™
(E) 3aia 99
119. IAHHAR-3FIHEF AAELET ST 9RT &
f=feaiaa & ¥ ey T59 | Rera 29
(A) =TT (B) HeT WSS
©) zEve (D) 3ITuEE
(E) 3aRd wed
120. HIET I (AT HAT & HEMHSIF & ®T H
g & arat Taelt Afgdr Hi 2 2
(A) T TSR ARG T
(B) dffUee STTer qfeaT ST
(C) wfeHe AT AR HICHT
(D) df¥eAe FTEIA HBiadT Ted
(E) 37aRa ueA
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The State Election Commission (SEC) Rajasthan

was constituted by which article of the
Constitution of India ?

(A) Article 243K (B)  Article 143K

(C) Article 115A (D)  Article 249K

(E) Question not attempted

The Chairperson of a State Human Rights
Commission can only be removed by the :

(A) President Chief Minister

(B)

(C) Home Minister (D) Governor

(E) Question not attempted

Name the author of “Annals and Antiquities of
Rajasthan”.

(A) Dr. Gaurishankar (B) Babu
Ojha Ramprasad
(C) Col. James Tod (D) Jwala Sahai

(E) Question not attempted

In which of the following states of India
Achanakmar-Amarkantak Biosphere Reserve is
located ?

(A) Gujarat (B) Madhya
Pradesh
(C) Jharkhand (D) Uttarakhand

(E) Question not attempted

Who has become the first woman to be appointed
as the Director General of the Armed Forces
Medical Services ?

(A) Vice Admiral Arti Sarin
(B) Lt. Gen. Punita Arora

(C) Lt Gen. Madhuri Kanitkar
(D) Lt Gen. Kavita Sahai

(E) Question not attempted

P.T.O.
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(Q. No. 121 to 125) Read the given passage carefully
and answer the questions that follow :

PASSAGE

Did you know that the world’s first official airmail
delivery took place in India in 1911, only 8 years after
the invention of airplanes ?

On February 18, 1911, French pilot Henri Pequet
carried the first official mail flown by airplane. Pequet
carried a sack with about 6,000 cards and letters on his
Humber biplane. The flight covered a distance of five
miles, from Allahabad polo field to Naini across the
Yamuna river. All mails received a special parcel

depicting an airplane, mountains, and - “First Aerial
Post, 1911, U.P. Exhibition Allahabad” written on it.

On October 1, 2024, India Post celebrated 170 years of
service. Originally started by the British East India
Company and known as ‘Company Mail’, India Post
was brought under the Crown as a service in 1854 by
Lord Dalhousie, the Governor-General of India from
1848 to 1856. However, the history of postal systems
in India goes back to the Maurya period, particularly
the reign of Chandragupta Maurya circa 300 BCE.

Some  historians believe that Chandragupta
introduced an early postal system in India, using
carrier pigeons to communicate between the different
provinces of his vast empire stretching from
Karnataka in the South to Afghanistan in the North,
and Nagaland in the East to Eastern Iran in the West.

This early postal system was most probably
introduced to India by Alexander III of Macedon, who
used it widely during his military campaigns after
adopting it from the ancient Persians, who trained
and used carrier pigeons as messengers as early as the

5th Century BCE. Carrier pigeons remained the
primary mode of long-distance communication in
India over the next thousand years. They were used
extensively by rulers from the Maurya emperor

Ashoka (302-234 BCE) to the Mughal emperor Babur
(1483-1530 CE).

121. Four statements about the world’'s first official
airmail delivery are given below. Choose the
incorrect option.

(A) The flight travelled from Allahabad polo
field to Naini.

(B)  The plane carried 6,000 cards and letters.
(C) The flight covered a distance of eight

miles.

(D) Pilot Henri Pequet carried the mail by
airplane.

(E) Question not attempted
K SPZ8
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Which of the following statements is NOT true
about the reign of Chandragupta Maurya ?

(A) He is said to have introduced an early
postal system in India.

(B) His empire stretched to Eastern Iran in
the West.

(C) His empire stretched from Sikkim in
Eastern India to Iraq in the west.

(D) His empire stretched from Karnataka in

the South to Afghanistan in the North.
(E) Question not attempted

From whom did Alexander III of Macedon
adopt the system of using carrier pigeons as
messengers ?

(A) Ancient Egyptians

(B) Aristotle

(€©) Maurya Emperor Ashoka

(D) Ancient Persians

(E) Question not attempted

What was India Post known as earlier ?
(A) The Crown Mail

(B) Company Mail

(C©) Humber Biplane Mail

(D) East India Company Postal Service
(E)  Question not attempted

How many years has India Post been in service
for?

(A) 170 years

(B) Since 1 Oct, 2024
(C€) 150 years

(D) Since 1921

(E) Question not attempted
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126. Fill in the blank in the given sentence with the
most appropriate word.
Kartik a plan to get an unlimited
supply of popcorn in the theatre.
(A) divided (B) divine
(C) devised (D) diviced
(E)  Question not attempted

127. Choose the most appropriate antonym for the
underlined word.
The judge thought that the offence was
deliberate.
(A) Casual (B)  Unintentional
(C) Legitimate (D) Negligible
(E)  Question not attempted

128. Fill in the blank with the most appropriate
idiom.
You should have seen the state he was in before
his interview. He was as anxious as
(A) acool cucumber
(B) acatona hot tin roof
(C) adare devil
(D) acopy cat
(E)  Question not attempted
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the following options, choose the

gTammatically correct statement.

Choose the most appropriate answer from the
options given below.

(A)

(B)

(©)

(D)

(E)

The Fodder scam was unearthed after a
decade long investigation.

The Fodder scam was earthed after an
decade long investigation.

The Fodder scam had unearthed before a
decade long invigilation.

The Fodder scam were unearthed after a
decade long investigation.

Question not attempted

130. Match the words in List - I with their synonyms

in List - IL.
List -1 List - IT
a. |Heretic i. |Revoke
b. |Slander ii. |Non-Conformist
c. |Wilt iii. |Defame
d. [Rescind iv. [Wither
Choose the correct answer from the options given

below :

(A)

(B)

©)

(D)

(E)

a-ii, b-iii, c-iv, d-i
a-iii, b-i, c-ii, d-iv
a-iv, b-iii, c-1, d-ii
a-i, b-ii, c-iv, d-iii
Question not attempted

P.T.O.
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131,

= |V

frfefaa # ¥ 9 919 2
(A) 3G & g ST BT AR 797
(B) # facett 7 ol

(C) T =T HIAT TTET 2
(D) TRt &t fearsT g1 et

(E) 3rqaid ued
132. ‘9T’ 915 H Hfead uog &
(A) 3w (B) 31
©) . (D) ¥
(E) 3rqaid ued
133. ‘IHET 39 9 UG H HiF-97 TAY 7 2
(A)  IrFgE (B) =z
©)  Ta (D) adite
(E) 37aixd 99
134. “IUSTSH’ a5 BT fIATH 98 B
(A)  3UTeH (B) I
©) T (D) =g
(E) 3rqaid ued
135. ‘qe-ug’ g9 o5 i T Wel 7Y 7
(A) wug-fearg (B) TEA-gH
© fra-gFm (D) e
(E) 3raid ued
136. feoifpad H W TSI GIeeT BT IGTEI &
(A) feH+3meT = fEamey
(B) AN+ = M0
©) ITH+3THE = TS
(D) 3+ = Ieor ™
(E) 37qaikd 99
% SPZ8
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137.

138.

139.

140.

141.

142,
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‘ qeTT A &P 39 ar99ieT & fAu U o

ERIT

(A) 3T (B) 31w

(©) T (D) 378 =X

(E) 3aRa 9ed

‘ST TST AT AT FIH TST TUIT ATHITST BT
et 312t ATt

(A) grET €% § 9491 8 £

(B) 9T & | TV &

(C) =TT & 9T IST 94T &
(D)  3TSThel UHT F&S AT &l &l

(E) 3 ued

“EaT & ST FETaY HT T 37 ZAI
(A) AW ST (B) W& & ST
(©) ==d & (D) &4t I3
(E) 3 aia 99

qTRATTYE 58 ‘Reminder’ F 7T ST fat
TeT BN -

(A) 3RS (B) afym

©) g=iF (D)  srfergemT
(E)  3raiid ued

frfefaa # ‘78’ o1es &1 qarEaTEt A8t §
(A) A= (B) oo+

©) 3™ (D) =%

(E) 3r@Rd 9ed

fritea # 35 fofEa arsg 1 gg=ntqu|
(A) = (B) fdt

©) =T (D) fify

(E) 3 aid 9ed
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143.

144.

145.

X SPZ8

= |V

&t T$ AESHT BT IS UG A fAEfetaa

¥ BT I S ;

X +Y'HT 7T 2 X, Y B IAT 2
X - Y' T3 B 'X, Y Bt qSt B
'X + Y' T 301 B 'X, Y B T&54 &

X#Y' BT AT T'Y, X B AT &
gfe A-B+C#D+E,d A,E®TBIF & ?

(A) TqraT/ AT

St g gEer 7, uga 6 et & feaw g
ST TUTHTET % WET 68 H 3T & 2
C,A B EGHD,LMQRFTSUW

(A) 3 (B) 4

(C) 6

(E) 3mid ued

3G IMPHA FT TG99 FL AT AHATANGT  STHIT
R P IR FIAT &

I/’
s

(A)

(D) 5

Ly QT: ?
S

(B)

I?

I
d

(E) 3maid ued

(©) (D)
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144.
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Read the given information carefully and answer

the following question :

‘X+Y means ‘Xis wife of Y'.

‘X -Y means ‘X is daughter of Y.
‘X +Y means ‘X is sister of Y’.
‘X#Y means Y is mother of X'.

HA-B+-C#D+E, thenAisE's :

(A) Grand-son (B) Grand-daughter

(C) Son-in-law (D) Son

(E) Question not attempted

In the given series, identify how many pairs of
letters appear in exact alphabetical order of the
English alphabets ?

C.F Af B.F E.F G.l' H.F D.F L.F Mf Qf Rf F.F T.F SJ' Uf W
(A) 3 (B) 4
(©) 6 (D) 5

(E) Question not attempted

Select the figure that would complete the
following figure matrix :

l
<

(A)

< Y ?
ot

(B)

I?

I
vl

(E) Question not attempted

(©) (D)

P.T.O.
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146. 3T 3MHIA HT F99 FL AT A [§T 7T 3728 Hi
T HIAT 2
o AlA *
* O A O
X Ol0 V
2
V¥
(A) (B) [V
¥ O O %
) |V o (D) |A
* 0
(E) 3maid wed
147. 3fg fA=faRgd sl & WS AEPHRT F
IR FIRAA fHAT 10, A B AT U 37T A
3ATQITT 7
Clear, Clown, Client, Clean
(A) Clown (B) Client
(C) Clean (D) Clear
(E) 3/ aiRa 99
148. 1 S $REGelT | W UG A1 BT
0,3,8,7,24, 35
(A) 13 (B) 17
(C) 15 (D) 12
(E) 3Maia 99
* SPZ8
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Select the figure that would complete the
following matrix :

O AlA *
* O %A O
X oo V
?
V| ¥
(A) (B) |V
¥ O O %
C [V o (D) [A
* O %

(E) Question not attempted

If the following words are arranged according to
English dictionary, which word would come last ?

Clear, Clown, Client, Clean

(A) Clown (B) Client

(C) Clean (D) Clear

(E) Question not attempted

Find the missing term in the following series :

0,3,8,7,24, 35

(A) 13 (B) 17

(C) 15 (D) 12

(E) Question not attempted
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149. %QWH?Hﬁ,%E@SﬂT%ﬁﬁ%Eﬂ?@

T 2 3N §F 315 31T & T IG1 & &= A7 &
Taer 2| fou v fasweat | & o ug & Tl

RSAB :34 :: TABF :?

(A) 14 (B) 15

(©) 17

(E) 3mid ued

(D) 13

150. 3fg AT faeiw wWmT  #, 'YOURSELF'

'URYOEFSL' % &7 # Feag fHar Sar g, ar 34t
AT # 'PLATINUM' &t FF Feas [HAT ST 2

(A) ATPLUMIN ATPLNMIU

(B)

(C) LAPTNIMU (D) ATPLNIMU

(E) 3Maia 99

149.

150.
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In the given question, there is some relationship
between the two terms to the left of : : and the
same relationship between the two terms to its
right. Choose the missing term out of the given
alternatives.

RSAB :34 :: TABF :?
(A) 14 (B) 15
C) 17 (D) 13

(E) Question not attempted

If in a certain language, "YOURSELF' is coded as
‘URYQEFSL’, then how will ‘PLATINUM’ be
coded in the same language ?

(A) ATPLUMIN (B) ATPLNMIU

(C) LAPTNIMU (D) ATPLNIMU

(E) Question not attempted

P.T.O.
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| 32 U A & uiaan & - Her afa 37T fadiea gfa, udten wanfia uz gdien wer oiget & gd gienef 36T usie @1 qiel glaar diers |
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